
$<�«sÁT�\Å£� d�Ö#áq\T :

1. � ç|�Xæ� |�çÔáeTT q+<�T 4 $uó²>±\T eT]jáTT 33 ç|�Xø�\T �H��sTT.

2. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T �eÇ�&�q d�eÖ<ó�q |�çÔá+ýËHû s�jáÖ*.

3. �d¿£�H� ` IV ýË >·\ ç|�Xø�\Å£� n+ÔásÁZÔá m+|¾¿£ �+³T+~.

4. n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T d�Îw�¼+>±, >·T+ç&�+>± s�jáT+&�.

5. ç|�Xæ� |�çÔá+ #á<�e&��¿ì 15�öö eT]jáTT ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT&��¿ì 2.30�öö

d�eTjáTeTT �eÇ�&�q~.

$uó²>·+ ` I

>·eT�¿£ : 1. n�� ç|�Xø�\Å£� Èy��T\T s�jáTeýÉqT.

2. ç|�Ü ç|�Xø�Å£� 1
2  eÖsÁTØ 12 × 1

2   = 6

1. 1 Â¿ýË] R ...................C�ýÙ

2. ¿ì+~ d�MT¿£sÁDqT |�P]+|�ÚeTT

�eT¢+ G ¿�±sÁ+ ® \eD+ G ...............

3. ¿ì+~ y�{ìýË �d�ýÙ �jáTeT+ ...............

(m) n1sin i = sin r / n2 (_) n1/n2 = sin r / sin i
(d¾) n2/n1 = sin r / sin i (&�) n2 sin i = d¾�s�+¿£+

4. ¿ì+~ |�<�s��\ýË ¿£³¿£ ÔájáÖ¯¿ì |��¿ìs��~

(m) úsÁT (_) >±E (d¾) bÍ¢d¾¼¿ù (&�) �+¿£eTqT�

5. ÈÔá|�sÁT#áTeTT

x) d�Îw�¼ <��w¾¼ ¿£úd� <�ÖsÁ+ ( ) P) 25�d+.MT

y) <��w¾¼ ¿ÃD+ ( ) Q) 30�d+.MT

  R) 60
0

yîÖ&�ýÙ �||�sY ` 1

jáTdt.jáTdt.d¾. |�_¢¿ù |�̄ ¿£�\T ` 2021

uó�Ü¿£ sÁkÍjáTq Xæg+

(Ôî\T>·T MT&�jáT+)

ÔásÁ>·Ü : 10 (>·]w�÷. eÖsÁTØ\T : 50) d�eTjáT+ : 2.45 �öö

[ Turn Over

SET-2



6. L`¿£sÁÎsÁ+:8   :: M`¿£sÁÎsÁ+ : c

7. qÖÔáq �esÁïq |�{ì¼¿£ 2e |¾̄ jáT&�ýË �q� eTÖ\¿±\ d�+K«

m) 2 _) 8 d¾) 18 &�) 32

8. C�\T/Å£L\T+uÙ ......... Å£� d�eÖq+

m) y�{Ù _) yÃýÙ¼ d¾) jáÖ+|¾jáTsY  &�) zy�T

9. njáTkÍØ+Ôá n_óy�V�² kÍ+ç<�ÔáÅ£� d�ÖçÔá+ s�jáT+&�.

10. �qTeTT e+{ì ýËV�²+ ÔûeT>± �+&û >±*ýË mÅ£�Øe�d|�Ú �q�³¢sTTÔû #î&�bþjûT

<��ÐÇw�jáÖ�� @eT+{²sÁT?

11. ¿±sÁÒH� |�sÁeÖDTeÚ m\�¿±¼H� $H�«d�+ s�jáT+&�.

12. BF3nDTeÚýË @ sÁ¿£yîT®q d�+¿£̄ ¿£sÁD+ �+³T+~?

$uó²>·+ ` II

>·eT�¿£ : 1. n�� ç|�Xø�\Å£� Èy��T\T s�jáTeýÉqT.

2. ç|�Ü ç|�Xø�Å£� 1 eÖsÁTØ 8 × 1 = 8

13. �cþ�ç>·ÔáqT �sÁÇº+#áTeTT.

14. PH �dØ\T nq>±Hû$T?

15. ¿£³¿£ d�ÖçÔáeTT s�jáT+&�.

16. @$<ó�+>± #áÔ�ÇsÁeTTqT d�e]+#áe#áTÌ?

17. ç|�¿£�ÜýË \_ó+#û <ó�ÔáTeÚ\ qT+&� ýËV�ä\qT d�+ç>·V¾²+#û |�<��Ü� @eT+{²sÁT?

18. nlx|�<��Ü n+fñ @$T{ì?

19. ÿ¿£ eTÖ\¿£+ jîTT¿£Ø |�sÁeÖDT d�+K« 19 nsTT@ �esÁïq |�{ì¼¿£ýË B�kÍ�q+ @~?

20. nz$TjáT |�<�s���¿ì V-I ç>±|�t �¿±sÁeTTqT ̂ jáTTeTT.

$uó²>·+ ` III

>·eT�¿£ : 1. n�� ç|�Xø�\Å£� Èy��T\T s�jáTeýÉqT.

2. ç|�Ü ç|�Xø�Å£� 2 eÖsÁTØ\T 8 × 2 = 16
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21. yûd�$,oÔ�¿±ý²ýË¢ y�Ô�esÁD �cþ�ç>·Ôá <�<�|�Ú d¾�sÁ+>± �+&�&�+ýË ú{ì $¥cþ¼w��+

bÍçÔáqT MTÂsý² n_óq+~kÍïsÁT?

22. �eT¢ es�ü\ #îsÁTeÚ\T q<�T\ýË�¿ì eºÌ #û]q|�Ú&�T È\#ás�\ ��¿ì¿ì ç|�eÖ<�+.

m+<�TÅ£�?

23. zy�T �jáTeÖ�� ç|�jîÖ>·|�PsÁÇ¿£+>± �sÁÖ|¾+#áT³Å£� ¿±e\d¾q |�]¿£s�\qT s�jáT+&�.

24. njáTkÍØ+Ôá �\¹sK\T $e�Ô�\T n� n$ <�+&�jáÖkÍØ+Ôá �ÔáïsÁ <ó��e+ e<�Ý çbÍsÁ+uó�yîT®

<�¿ì�D <ó��e+ e<�Ý eTT>·TkÍïjáT� s�CÙÅ£�eÖsY MTÔÃ nH��&�T. s�CÙÅ£�eÖsY y�<�qqT

d�e]d�Öï �\¹sK\T d�+e�Ô�\� #î|�Î&��¿ì MTsÁT nÔá�� @ ç|�Xø�\T n&�T>·TÔ�sÁT?

25. Xø�+K\ kÍeTsÁ�«+ ýñ¿£ Xø�+K+ <ó�sÁ�+ nq>±Hû$T?

26. <��w¾¼<ÃcÍ\T m�� sÁ¿±\T? n$ @$?

27. ÿ¿£ |�sÁeÖDTeÚýË� ÿ¿£ m\�¿±¼H�Å£� d�+�+~ó+ºq H�\T>·T ¿±Ç+³+ d�+K«\T ¿ì+~

|�{ì¼¿£ýË �eÇ�&�q$.

n l ml  ms

2 0 0 + 2
1

1) eTÖ\¿£+ �|sÁT 2) � m\�¿±¼H� @ �]Ò{²ýÙÅ£� #î+<�TÔáT+~?

28. &��¯qsY çÜ¿£ d¾<�Æ+Ôá+ �sÁÇº+º ÿ¿£ �<�V�²sÁD �eÇ+&�.

$uó²>·+ ` IV

>·eT�¿£ : 1. n�� ç|�Xø�\Å£� Èy��T\T s�jáTeýÉqT.

2. ç|�Ü ç|�Xø�Å£� 4 eÖsÁTØ\T 5 × 4 = 20

29. BsÁé<��w¾¼ ýËbÍ�� d�e]+#û $<ó�H��� $e]+#á+&�.

(ýñ<�)

¿ì+~ y�{ì� �sÁÇº+#á+&�.

m) eç¿¡uó�eq >·TD¿£+ _) ¿±+Ü eç¿¡uó�eq �jáTeÖ\T

30. eTÖ\¿±\T @$<ó�+>± s,p,d,f u²¢Å£�\T>± $uó��+|��&�H�jîÖ $e]+#á+&�.

(ýñ<�)
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m\�¿±¼H� eÖ]Î&� d¾<��+Ôá+ ç|�¿±sÁ+ kþ&�jáT+ ¿Ã¢ÂsÕ&� @s�Î³TqT $e]+#á+&�.

31. �\ØV�äýÙ, >·Ö¢¿ÃE e+{ì \eD²\T �VÕ²ç&ÃÈH�qT ¿£*Z�q�|�Î{ì¿ì n$ �eÖ¢\T ¿±eÚ.

B�� ÿ¿£ ¿£�Ôá«+ <�Çs� $e]+|�ÚeTT.

(ýñ<�)

ýËV�²¿£�jáT+ qÅ£� >±* eT]jáTT úsÁT ned�sÁ+ n� �sÁÖ|¾+#á&��¿ì ÿ¿£ ç|�jîÖ>±��

d�Öº+#á+&�. <��� mý² �sÁÇV¾²kÍïsÃ $e]+#á+&�.

32. |�{ì¼¿£qT |�]o*+º n&�Ðq ç|�Xø�\Å£� Èy��T\T s�jáT+&�.

m) $¥cþ¼w��+ jîTT¿£Ø S.I ç|�eÖD+ @$T{ì?

_) @ ç<�y��� oÔá©¿£sÁDì>± y�&�TÔ�sÁT?

d¾) �|Õ |�{ì¼¿£ýË� ýËV�ä\ýË HîeT�~>± yû&îÂ¿Ø d�Çuó²e+ ¿£*Ðq~?

&�) e+³ bÍçÔá\Å£� y�&û �ÔáïeT >·TD¿£+ ¿£*Ðq ýËV�²+ @~?

(ýñ<�)

Å£�+uó²¿±sÁ ¿£³¿±�¿ì d�+�+~ó+ºq |�{ì¼¿£qT |�P]+|�ÚeTT.

33. zy�T �jáTeÖ�� d�]#áÖ�d ç|�jîÖ>· |�³eTTqT ^jáT+&�.

(ýñ<�)

 d ̀  �]Ò{²Þøß �¿£�ÔáT\qT ̂ jáT+&�.

|�<�sÁ�+   dÓd�+     �Ôáï&�   �+¿ù   s�Ð    �qTeTT  n\Ö«$T�jáT+ eT+#áT d�eTTç<�|�ÚúsÁT  úsÁT

$¥cþ¼w��+ 0.031 0.092  0.093 0.095  0.115      0.21       0.50       0.95     1

cal/g-0c

ed�TïeÚ     ç|�Ü_+�     �È/$T<̧�«     Ôá\¿ì+<�T\/     �|<�Ý<îÕq/ºq�<îÕq

kÍ�q+      kÍ�q+        ç|�Ü_+�+    �³ÖsÁT ç|�Ü         ç|�Ü_+�+

    _+�+

2F2eTT+<�T    Ôá\¿ì+<�T\       ºq�<îÕq

    ç|�Ü_+�+         ç|�Ü_+�+

       2F1eTT+<�T     �È ç|�Ü        �|<�Ý<îÕq

        _+�+      ç|�Ü_+�+

F2 e<�Ý       nq+Ôá      �È ç|�Ü

  <�ÖsÁ+ýË     _+�+

  ed�TïeÚ      �{²sÁT       �|<�Ý<îÕq

  �q�yîÕ|�Ú    ç|�Ü_+�+     ç|�Ü_+�+
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